
Contrôle	
  de	
  mathématiques	
  sujet	
  A	
  

Triangle	
  rectangle	
  et	
  cercle	
  –	
  Calcul	
  littéral	
  

Nom	
  :	
   Note	
  :	
  

Observations	
  :	
  

L’usage	
  de	
  la	
  calculatrice	
  est	
  autorisé.	
  Lire	
  entièrement	
  

l’énoncé	
  avant	
  de	
  commencer.	
  Le	
  barème	
  est	
  donné	
  à	
  titre	
  

indicatif,	
  il	
  est	
  susceptible	
  de	
  changer.	
  

	
  

Signature	
  des	
  parents	
  

	
  

	
  

	
  

	
  

	
  

	
  

Exercice	
  1	
   /	
  3	
  points	
  

Développer	
  et	
  réduire	
  les	
  écritures	
  littérales	
  suivantes	
  

𝐴 = 3𝑥 − 7 − (−6 + 2𝑥)	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

…………………………………………………	
  

…………………………………………………	
  

…………………………………………………	
  

…………………………………………………	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

𝐵 = 7 𝑎 − 3𝑏 − 𝑎(𝑏 + 7)	
  

…………………………………………………	
  

…………………………………………………	
  

…………………………………………………	
  

…………………………………………………	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

𝐶 = (3𝑥 + 2)(2𝑥 − 5)	
  

…………………………………………………	
  

…………………………………………………	
  

…………………………………………………	
  

…………………………………………………	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  

Exercice	
  n°2	
   	
  	
  /	
  3	
  points	
  

Soit	
  l’expression	
  𝐷 = 𝑥 − 3 4𝑥 + 5 − (1 − 𝑥)(2𝑥 + 1)	
  

1)	
  Calculer	
  D	
  pour	
  𝑥 = 2	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

2)	
  Développer,	
  réduire	
  et	
  ordonner	
  l’expression	
  D	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  



3)	
  Calculer	
  D	
  pour	
  𝑥 = 2    dans	
  le	
  résultat	
  trouvé	
  à	
  la	
  question	
  2).	
  Conclure.	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

	
  

Exercice	
  n°3	
   	
  	
  /	
  4	
  points	
  

Une	
  piscine	
  rectangulaire	
  ABCD	
  de	
  10	
  mètres	
  sur	
  7	
  mètres	
  a	
  une	
  bordure	
  de	
  largeur	
  x	
  mètres.	
  

	
  

1)	
  Exprimer	
  en	
  fonction	
  de	
  x	
  ,	
  l’aire	
  A	
  du	
  bassin	
  EFGH.	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

2)	
  Exprimer	
  en	
  fonction	
  de	
  x	
  ,	
  le	
  périmètre	
  P	
  du	
  bassin	
  EFGH.	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

3)	
  Calculer	
  l’aire	
  A	
  du	
  bassin	
  lorsque	
  𝑥 = 0,75  𝑚	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

	
  

	
  



Exercice	
  n°4	
   	
  	
  /	
  4	
  points	
  

	
  

Définition	
  :	
  Des	
  points	
  sont	
  dits	
  cocycliques	
  lorsqu’ils	
  appartiennent	
  à	
  un	
  même	
  cercle.	
  

Soit	
  le	
  quadrilatère	
  ABCD	
  sur	
  la	
  figure	
  codée	
  ci-­‐contre.	
  

Démontrer	
  que	
  les	
  points	
  A,	
  B,	
  C	
  et	
  D	
  sont	
  cocycliques.	
  

	
  

……………………………………………………………………………………………	
  

……………………………………………………………………………………………

………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

Exercice	
  n°5	
   	
  	
  /6	
  points	
  

Soit	
  ABC	
  un	
  triangle	
  équilatéral	
  de	
  côté	
  3	
  cm.	
  Soit	
  D	
  le	
  symétrique	
  de	
  A	
  par	
  rapport	
  à	
  B.	
  

1) Faire	
  une	
  figure	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  



2) Démontrer	
  que	
  le	
  triangle	
  CAD	
  est	
  rectangle	
  en	
  C	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

3) Construire	
  le	
  cercle	
  C’	
  de	
  diamètre	
  [BD]	
  qui	
  coupe	
  le	
  segment	
  [CD]	
  au	
  point	
  E.	
  

Démontrer	
  que	
  les	
  droites	
  (BE)	
  et	
  (AC)	
  sont	
  parallèles.	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

	
  

	
  



Contrôle	
  de	
  mathématiques	
  sujet	
  B	
  

Triangle	
  rectangle	
  et	
  cercle	
  –	
  Calcul	
  littéral	
  

Nom	
  :	
   Note	
  :	
  

Observations	
  :	
  

L’usage	
  de	
  la	
  calculatrice	
  est	
  autorisé.	
  Lire	
  entièrement	
  

l’énoncé	
  avant	
  de	
  commencer.	
  Le	
  barème	
  est	
  donné	
  à	
  titre	
  

indicatif,	
  il	
  est	
  susceptible	
  de	
  changer.	
  

	
  

Signature	
  des	
  parents	
  

	
  

	
  

	
  

	
  

	
  

	
  

Exercice	
  1	
   /	
  3	
  points	
  

Développer	
  et	
  réduire	
  les	
  écritures	
  littérales	
  suivantes	
  

𝐴 = 5𝑥 − 7 − (−6 + 2𝑥)	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

…………………………………………………	
  

…………………………………………………	
  

…………………………………………………	
  

…………………………………………………	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

𝐵 = 3 𝑎 − 3𝑏 − 𝑎(𝑏 + 4)	
  

…………………………………………………	
  

…………………………………………………	
  

…………………………………………………	
  

…………………………………………………	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

𝐶 = (6𝑥 + 1)(2𝑥 − 5)	
  

…………………………………………………	
  

…………………………………………………	
  

…………………………………………………	
  

…………………………………………………	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  

Exercice	
  n°2	
   	
  	
  /	
  3	
  points	
  

Soit	
  l’expression	
  𝐷 = 𝑥 − 3 5𝑥 + 4 − (1 − 𝑥)(3𝑥 + 1)	
  

1)	
  Calculer	
  D	
  pour	
  𝑥 = 2	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

2)	
  Développer,	
  réduire	
  et	
  ordonner	
  l’expression	
  D	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  



3)	
  Calculer	
  D	
  pour	
  𝑥 = 2    dans	
  le	
  résultat	
  trouvé	
  à	
  la	
  question	
  2).	
  Conclure.	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

	
  

Exercice	
  n°3	
   	
  	
  /	
  4	
  points	
  

Une	
  piscine	
  rectangulaire	
  ABCD	
  de	
  10	
  mètres	
  sur	
  7	
  mètres	
  a	
  une	
  bordure	
  de	
  largeur	
  x	
  mètres.	
  

	
  

1)	
  Exprimer	
  en	
  fonction	
  de	
  x	
  ,	
  l’aire	
  A	
  du	
  bassin	
  EFGH.	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

2)	
  Exprimer	
  en	
  fonction	
  de	
  x	
  ,	
  le	
  périmètre	
  P	
  du	
  bassin	
  EFGH.	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

3)	
  Calculer	
  l’aire	
  A	
  du	
  bassin	
  lorsque	
  𝑥 = 0,75  𝑚	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

	
  

	
  



Exercice	
  n°4	
   	
  	
  /	
  4	
  points	
  

	
  

Définition	
  :	
  Des	
  points	
  sont	
  dits	
  cocycliques	
  lorsqu’ils	
  appartiennent	
  à	
  un	
  même	
  cercle.	
  

Soit	
  le	
  quadrilatère	
  ABCD	
  sur	
  la	
  figure	
  codée	
  ci-­‐contre.	
  

Démontrer	
  que	
  les	
  points	
  A,	
  B,	
  C	
  et	
  D	
  sont	
  cocycliques.	
  

	
  

……………………………………………………………………………………………	
  

……………………………………………………………………………………………

………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

Exercice	
  n°5	
   	
  	
  /6	
  points	
  

Soit	
  ABC	
  un	
  triangle	
  équilatéral	
  de	
  côté	
  3	
  cm.	
  Soit	
  D	
  le	
  symétrique	
  de	
  A	
  par	
  rapport	
  à	
  B.	
  

1) Faire	
  une	
  figure	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  



2) Démontrer	
  que	
  le	
  triangle	
  CAD	
  est	
  rectangle	
  en	
  C	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

3) Construire	
  le	
  cercle	
  C’	
  de	
  diamètre	
  [BD]	
  qui	
  coupe	
  le	
  segment	
  [CD]	
  au	
  point	
  E.	
  

Démontrer	
  que	
  les	
  droites	
  (BE)	
  et	
  (AC)	
  sont	
  parallèles.	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

……………………………………………………………………………………………………………………………………………………………	
  

	
  

	
  


